

CONSTRUCTING HOM-(TRI)DENDRIFORM FAMILY ALGEBRAS

SYLVAIN ATTAN, DONATIEN GAPARAYI AND BERNARDIN KPAMEGAN

ABSTRACT. Hom-(tri)dendriform family algebras and Hom-pre-Lie family algebras are introduced and studied. Moreover we explore the connections between these categories of family Hom-algebras.

1. INTRODUCTION

Dendriform algebras are algebras with two operations, which dichotomize the notion of associative algebra. They are introduced by Loday [16] with motivation from algebraic K-theory and are connected to several areas in mathematics and physics, including homology [9], arithmetics [15], operads [17], Hopf algebras [18, 19, 22], combinatorics and quantum field theory [8], [10] where they occur in the theory of renormalization of Connes and Kreimer [3, 4, 5]. Later a tridendriform algebra which is a vector space equipped with 3 binary operations satisfying seven relations were introduced by Loday and Ronco in their study of polytopes and Koszul duality [19].

Rota-Baxter operators have appeared in a wide range of areas in pure and applied mathematics. The paradigmatic example of Rota-Baxter operators concerns the integration by parts formula of continuous functions. The algebraic formulation of Rota-Baxter algebra find their origin in the work of the American mathematician Glen E. Baxter [2] in probability study of fluctuation theory and it is proved that a Rota-Baxter algebra of weight zero (resp. weight $\lambda \neq 0$) possesses a dendriform (resp. tridendriform) algebra structure [1], [6]. Rota-Baxter algebras were intensively studied on the one hand by G.C. Rota in connection with combinatorics and on the other hand by A. Connes and D. Kreimer in connection with mathematical physics in their Hopf algebra approach for renormalizing of quantum field theory. Therefore, an important development including Rota-Baxter algebras and their connections to other algebraic structure is obtained.

The operations on an algebra may be replaced by a family of operations indexed by a semigroup, giving rise to the same algebraic structure in "family versions".

2010 *Mathematics Subject Classification.* 17A01, 17A30, 17A99.

Key words and phrases. Hom-associative algebras, Rota-Baxter family, Hom-dendriform family algebras, Hom-tridendriform family algebras, Hom-pre-Lie family algebras.

©2022 Ilirias Research Institute, Prishtinë, Kosovë.

Submitted August 11, 2022. Published October 26, 2022.

Communicated by Kewen Zhao.

The notion of "Rota-Baxter family" appeared in 2007 is the first example of this situation [7] (see also [14]) about algebraic aspects of renormalization in Quantum Field Theory. This terminology was suggested to the authors by Li Guo, who further duscussed the underlying structure under the name Rota-Baxter Family algebra [12] which is a generalization of Rota-Baxter algebras. Since then, various other kinds of family algebraic structures have been defined [11, 23, 24, 25].

The aim of this paper is to extend the notion of (tri)-dendriform family algebras and pre-Lie family algebras to the Hom-setting. Recall that the theory of Hom-algebras first appeared in the study of quasi-deformations of Lie algebras of vector fields, including q-deformations of Witt algebras and Virasoro algebras with the introduction of Hom-Lie algebras by J.T. Hartwig, D. Larsson, and S.D. Silvestrov [13].

The paper is organized as follows: In section two, we introduce the concepts of Hom-associative Rota-Baxter family algebras and then prove various constructions of them from associative Rota-Baxter algebras. Furthermore, we give a method to induce Hom-associative Rota-Baxter algebras from Hom-associative Rota-Baxter family algebras. In section three, we introduce the notions of Hom-(tri)dendriform) and Hom-pre-Lie family algebras. Finally, some relations between these family Hom-algebras are given.

Throughout this paper, all vector spaces and algebras are meant over a ground field \mathbb{K} and Ω designates a semigroup whose elements will be denoted by $\lambda, \mu, \nu, \xi, \dots$.

2. HOM-ASSOCIATIVE ROTA-BAXTER FAMILY ALGEBRAS

In this section, we introduce the concepts of Hom-associative Rota-Baxter family algebras and then prove various constructions of them from associative Rota-Baxter algebras. We also give a method to induce Hom-associative Rota-Baxter algebras from Hom-associative Rota-Baxter family algebras.

Definition 2.1. *A Rota-Baxter operator of weight $\theta \in \mathbb{K}$ on a Hom-algebra (A, \cdot, α) is a linear operator $R : A \rightarrow A$ that satisfies*

$$R \circ \alpha = \alpha \circ R, \quad (2.1)$$

$$R(a) \cdot R(b) = R(R(a) \cdot b + a \cdot R(b) + \theta a \cdot b), \text{ for all } a, b \in A \quad (2.2)$$

*Equation (2.2) is called the Rota-Baxter equation. Then (A, \cdot, α, R) is called a **Rota-Baxter Hom-algebra of weight λ** . If further \cdot is commutative (resp. Hom-associative), then (A, \cdot, α, R) is called a commutative Rota-Baxter Hom-algebra (resp. a Hom-associative Rota-Baxter algebra [20]) of weight θ .*

Definition 2.2. *A Rota-Baxter family of weight $\theta \in \mathbb{K}$ on a Hom-algebra (A, \cdot, α) is a collection of linear operators $\{R_\lambda, \lambda \in \Omega\}$ on (A, \cdot, α) such that*

$$\alpha \circ R_\lambda = R_\lambda \circ \alpha \text{ for all } \lambda \in \Omega, \quad (2.3)$$

$$R_\lambda(a) \cdot R_\eta(b) = R_{\lambda\eta} \left(R_\lambda(a) \cdot b + a \cdot R_\eta(b) + \theta a \cdot b \right), \quad (2.4)$$

for all $a, b \in A$ and $\lambda, \eta \in \Omega$.

*Then the quadruple $(A, \cdot, \alpha, \{R_\lambda, \lambda \in \Omega\})$ is called a **Rota-Baxter family Hom-algebra of weight θ** . If further \cdot is commutative, then $(A, \cdot, \alpha, \{R_\lambda, \lambda \in \Omega\})$ is called a commutative Rota-Baxter family Hom-algebra of weight θ .*

Definition 2.3. Let $(A, \cdot, \alpha, \{R_\lambda, \lambda \in \Omega\})$ and $(B, \top, \beta, \{P_\eta, \eta \in \Omega\})$ be two Rota-Baxter family Hom-algebras of weight θ . A map $f : A \rightarrow B$ is called a **Rota-Baxter family Hom-algebra morphism** if f is Hom-algebras morphism and $f \circ R_\lambda = R_\lambda \circ f$ for each $\lambda \in \Omega$.

Now, we give a link between Rota-Baxter family Hom-algebras and ordinary Rota-Baxter Hom-algebra as follows.

Let (A, \cdot, α) be a Hom-algebra. Consider the space $A \otimes \mathbb{K}\Omega$ with the linear map

$$\tilde{\alpha} : A \otimes \mathbb{K}\Omega \rightarrow A \otimes \mathbb{K}\Omega, \tilde{\alpha}(a \otimes \lambda) = \alpha(a) \otimes \lambda.$$

Moreover, the multiplication on A induces a multiplication \bullet on $A \otimes \mathbb{K}\Omega$ by

$$(a \otimes \lambda) \bullet (b \otimes \eta) := a \cdot b \otimes \lambda\eta.$$

It is easy to see that $(A \otimes \mathbb{K}\Omega, \bullet, \tilde{\alpha})$ is a Hom-algebra. Moreover, if $(A, \cdot, \alpha, \{R_\lambda, \lambda \in \Omega\})$ is a Rota-Baxter family Hom-algebra of weight θ then, $(A \otimes \mathbb{K}\Omega, \bullet, \tilde{\alpha}, R)$ is a Rota-Baxter Hom-algebra of weight θ , where $R : A \otimes \mathbb{K}\Omega \rightarrow A \otimes \mathbb{K}\Omega, x \otimes \lambda \mapsto R_\lambda(x) \otimes \lambda$.

Definition 2.4. Let $\mathcal{A} := (A, \alpha)$ be a Hom-associative algebra. A Rota-Baxter family of weight $\theta \in \mathbb{K}$ on \mathcal{A} is a collection $\{R_\lambda, \lambda \in \Omega\}$ of linear maps on A satisfying (2.3) and (2.4). Then the quadruple $(A, \cdot, \alpha, \{R_\lambda, \lambda \in \Omega\})$ is called a **Hom-associative Rota-Baxter family algebra** of weight θ .

If $\alpha = Id_A$, we get the notion of a Rota-Baxter family of weight $\theta \in \mathbb{K}$ on the associative algebra (A, \cdot) .

Proposition 2.5. Let α be a morphism of a Rota-Baxter family $\{R_\lambda, \lambda \in \Omega\}$ of weight θ on an associative algebra (A, \cdot) . Then $\{R_\lambda, \lambda \in \Omega\}$ is a Rota-Baxter family of weight θ on the induced Hom-associative algebra $\mathcal{A}_\alpha := (A, \cdot_\alpha, \alpha)$.

Proof. First, pick $\lambda \in \Omega$ and $a, b \in A$ then, we have $\alpha \circ R_\lambda = R_\lambda \circ \alpha$ and $\alpha(a \cdot b) = \alpha(a) \cdot_\alpha \alpha(b)$ since α is a morphism and hence, $\alpha(a \cdot_\alpha b) = a \cdot_\alpha b$ (multiplicativity). Next, we get by (2.4) for all $\lambda, \eta \in \Omega$ and $a, b \in A$,

$$\begin{aligned} R_\lambda(a) \cdot_\alpha R_\eta(b) &= \alpha \left(R_\lambda(a) \cdot R_\eta(b) \right) = \alpha \left(R_{\lambda\eta} \left(R_\lambda(a) \cdot b + a \cdot R_\eta(b) + \theta a \cdot b \right) \right) \\ &= R_{\lambda\eta} \left(R_\lambda(a) \cdot_\alpha b + a \cdot_\alpha R_\eta(b) + \theta a \cdot_\alpha b \right). \end{aligned}$$

□

Recall that given an associative algebra (A, \cdot) , an self-morphism $\alpha \in End(A)$ is said to be an element of the centroid if $\alpha(x \cdot y) = \alpha(x) \cdot y = x \cdot \alpha(y)$ for all $x, y \in A$. The centroid of A is defined by:

$$Cent(A) := \{ \alpha \in End(A), \alpha(x \cdot y) = \alpha(x) \cdot y = x \cdot \alpha(y), \forall x, y \in A \}.$$

Now, we also have:

Proposition 2.6. Let $\{R_\lambda, \lambda \in \Omega\}$ be a Rota-Baxter family of weight θ on an associative algebra (A, μ) and $\alpha \in Cent(A)$ commuting with R_λ for all $\lambda \in \Omega$. Let set for all $x, y \in A$:

$$\mu_\alpha^1(x, y) = \mu(\alpha(x), y) \text{ and } \mu_\alpha^2(x, y) = \mu(x, \alpha(y)).$$

Then $\mathcal{A}_1 : (A, \mu_\alpha^1, \alpha)$ and $\mathcal{A}_2 : (A, \mu_\alpha^2, \alpha)$ are Hom-associative algebras and $\{R_\lambda, \lambda \in \Omega\}$ is a Rota-Baxter family of weight θ of both of them.

Proof. It is clear that $\mathcal{A}_1 : (A, \mu_\alpha^1, \alpha)$ and $\mathcal{A}_2 : (A, \mu_\alpha^2, \alpha)$ are Hom-associative algebras. Pick $x, y \in A$, $\lambda, \eta \in \Omega$ and set $\mu(x, y) = x \cdot y$, then:

$$\begin{aligned} \mu_\alpha^1(R_\lambda(x), R_\eta(y)) &= \mu(\alpha(R_\lambda(x)), R_\eta(y)) = \alpha(\mu(R_\lambda(x), R_\eta(y))) \\ &= \alpha\left(R_{\lambda\eta}\left(R_\lambda(x) \cdot y + x \cdot R_\eta(y) + \theta x \cdot y\right)\right) \quad (\text{by (2.4)}) \\ &= R_{\lambda\eta}\left(\alpha(R_\lambda(x)) \cdot y + \alpha(x) \cdot R_\eta(y) + \theta \alpha(x) \cdot y\right) \\ &= R_{\lambda\eta}\left(\mu_\alpha^1(R_\lambda(x), y) + \mu_\alpha^1(x, R_\eta(y)) + \theta \mu_\alpha^1(x, y)\right). \end{aligned}$$

Similarly, we get also

$$\mu_\alpha^2(R_\lambda(x), R_\eta(y)) = R_{\lambda\eta}\left(\mu_\alpha^2(R_\lambda(x), y) + \mu_\alpha^2(x, R_\eta(y)) + \theta \mu_\alpha^2(x, y)\right)$$

□

Let (A, \cdot, α) be a Hom-associative algebra. Consider the space $A \otimes \mathbb{K}\Omega$ with the linear map

$$\tilde{\alpha} : A \otimes \mathbb{K}\Omega \rightarrow A \otimes \mathbb{K}\Omega, \quad \tilde{\alpha}(a \otimes \lambda) = \alpha(a) \otimes \lambda.$$

Moreover, the multiplication on A induces a multiplication \bullet on $A \otimes \mathbb{K}\Omega$ by

$$(a \otimes \lambda) \bullet (b \otimes \eta) := a \cdot b \otimes \lambda\eta.$$

It is easy to see that $(A \otimes \mathbb{K}\Omega, \bullet, \tilde{\alpha})$ is a Hom-associative algebra.

Theorem 2.7. *Let $\{R_\lambda, \lambda \in \Omega\}$ be a Rota-Baxter family of weight θ on the Hom-associative algebra (A, \cdot, α) . Then the map*

$$R : A \otimes \mathbb{K}\Omega \rightarrow A \otimes \mathbb{K}\Omega, \quad R(a \otimes \lambda) := R_\lambda(a) \otimes \lambda$$

is a Rota-Baxter operator of weight θ on the Hom-associative algebra $(A \otimes \mathbb{K}\Omega, \bullet, \tilde{\alpha})$.

Proof. First, it is clear that $\tilde{\alpha} \circ R = R \circ \tilde{\alpha}$. Next, pick $a, b \in A$ and $\lambda, \eta \in \Omega$ then, we have:

$$\begin{aligned} &R(a \otimes \lambda) \bullet R(b \otimes \eta) \\ &= \left(R_\lambda(x) \otimes \lambda\right) \bullet \left(R_\eta(y) \otimes \eta\right) \\ &= \left(R_\lambda(a) \cdot R_\eta(b)\right) \otimes \lambda\eta \\ &= R_{\lambda\eta}\left(R_\lambda(a) \cdot b + a \cdot R_\eta(b) + \theta x \cdot y\right) \otimes \lambda\eta \\ &= R\left(\left(R_\lambda(a) \cdot b + a \cdot R_\eta(b) + \theta a \cdot b\right) \otimes \lambda\eta\right) \\ &= R\left(R_\lambda(a) \cdot b \otimes \lambda\eta + a \cdot R_\eta(b) \otimes \lambda\eta + \theta a \cdot b \otimes \lambda\eta\right) \\ &= R\left(\left(R_\lambda(a) \otimes \lambda\right)(b \otimes \eta) + (a \otimes \lambda)\left(R_\eta(b) \otimes \eta\right) + \theta(a \otimes \lambda) \bullet (b \otimes \eta)\right) \\ &= R\left(R(a \otimes \lambda) \bullet (b \otimes \eta) + (a \otimes \lambda) \bullet R(b \otimes \eta) + \theta(a \otimes \lambda) \bullet (b \otimes \eta)\right). \end{aligned}$$

□

3. HOM-(TRI)DENDRIFORM FAMILY ALGEBRAS

In this section, we recall the concepts of Hom-(tri)dendriform algebras [20] and Hom-pre-Lie algebras [21] and then introduce Hom-(tri)dendriform and Hom-pre-Lie family algebras. We then give on the one hand a method to induce Hom-(tri)dendriform algebras from Hom-(tri)dendriform family algebras and on the other hand a method to obtain Hom-pre-Lie algebras from Hom-pre-Lie family algebras. Furthermore, some relations between these family Hom-algebras are given.

Definition 3.1. [20] *A Hom-dendriform algebra is a quadruple $(D, \prec, \succ, \alpha)$ consisting of a vector space D on which the operations $\prec, \succ: D \otimes D \rightarrow D$ and $\alpha: D \rightarrow D$ are linear maps satisfying*

$$\alpha \circ \prec = \prec \circ \alpha^{\otimes 2} \text{ and } \alpha \circ \succ = \succ \circ \alpha^{\otimes 2} \quad (3.1)$$

$$(x \prec y) \prec \alpha(z) = \alpha(x) \prec (y \prec z + y \succ z), \quad (3.2)$$

$$(x \succ y) \prec \alpha(z) = \alpha(x) \succ (y \prec z), \quad (3.3)$$

$$(x \prec y + x \succ y) \succ \alpha(z) = \alpha(x) \succ (y \succ z). \quad (3.4)$$

for all x, y, z in D .

Definition 3.2. [20] *A Hom-tridendriform algebra is a quintuple $(T, \prec, \succ, \cdot, \alpha)$ consisting of a vector space D on which the operations $\prec, \succ, \cdot: D \otimes D \rightarrow D$ and $\alpha: D \rightarrow D$ are linear maps satisfying*

$$\alpha \circ \prec = \prec \circ \alpha^{\otimes 2}, \alpha \circ \succ = \succ \circ \alpha^{\otimes 2} \text{ and } \alpha \circ \cdot = \cdot \circ \alpha^{\otimes 2}, \quad (3.5)$$

$$(x \prec y) \prec \alpha(z) = \alpha(x) \prec (y \prec z + y \succ z + y \cdot z), \quad (3.6)$$

$$(x \succ y) \prec \alpha(z) = \alpha(x) \succ (y \prec z), \quad (3.7)$$

$$(x \prec y + x \succ y + x \cdot y) \succ \alpha(z) = \alpha(x) \succ (y \succ z), \quad (3.8)$$

$$(x \succ y) \cdot \alpha(z) = \alpha(x) \succ (y \cdot z), \quad (3.9)$$

$$(x \prec y) \cdot \alpha(z) = \alpha(x) \cdot (y \succ z), \quad (3.10)$$

$$(x \cdot y) \prec \alpha(z) = \alpha(x) \cdot (y \prec z), \quad (3.11)$$

$$(x \cdot y) \cdot \alpha(z) = \alpha(x) \cdot (y \cdot z). \quad (3.12)$$

Remark. Any Hom-tridendriform algebra gives a Hom-dendriform algebra by setting $x \cdot y = 0$ for all $x, y \in T$. Furthermore, a Hom-(tri)dendriform algebra reduces to a (tri)dendriform algebra when $\alpha = Id$.

Next, we generalize in Hom-case, the concept of dendriform family algebras [23] which was proposed as a generalization of dendriform algebras invented by Loday in the study of algebraic K -theory [16].

Definition 3.3. *A Hom-dendriform family algebra is a \mathbb{K} -Hom-module (D, α) with a family of binary operations $\{\prec_\lambda, \succ_\lambda, \lambda \in \Omega\}$ such that for $x, y, z \in A$ and $\lambda, \eta \in \Omega$,*

$$\alpha \circ \prec_\lambda = \prec_\lambda \circ \alpha^{\otimes 2} \text{ and } \alpha \circ \succ_\lambda = \succ_\lambda \circ \alpha^{\otimes 2} \quad (3.13)$$

$$(x \prec_\lambda y) \prec_\eta \alpha(z) = \alpha(x) \prec_{\lambda\eta} (y \prec_\eta z + y \succ_\lambda z), \quad (3.14)$$

$$(x \succ_\lambda y) \prec_\eta \alpha(z) = \alpha(x) \succ_\lambda (y \prec_\eta z), \quad (3.15)$$

$$(x \prec_\eta y + x \succ_\lambda y) \succ_{\lambda\eta} \alpha(z) = \alpha(x) \succ_\lambda (y \succ_\eta z). \quad (3.16)$$

Remark. When the semigroup Ω is taken to be the trivial monoid with one single element, a Hom-dendriform family algebra is precisely a Hom-dendriform algebra. Furthermore, a Hom-dendriform family algebra reduces to a dendriform family algebra when $\alpha = Id$.

We can prove easily the following result which gives a method for constructing Hom-dendriform family algebras from dendriform family algebras.

Theorem 3.4. Let $(A, \{\prec_\lambda, \succ_\lambda, \lambda \in \Omega\})$ be a dendriform family algebra and $\alpha : A \rightarrow A$ be a self-morphism of dendriform family algebra. Then $(A, \{\prec_\lambda^\alpha, \succ_\lambda^\alpha, \lambda \in \Omega\}, \alpha)$ is Hom-dendriform family algebra where

$$x \prec_\lambda^\alpha y := \alpha(x \prec_\lambda y) \text{ and } x \succ_\lambda^\alpha y := \alpha(x \succ_\lambda y) \text{ for all } \lambda \in \Omega \text{ and } x, y \in A.$$

Proof. Straightforward computations. \square

Proposition 3.5. A Rota-Baxter family $\{R_\lambda, \lambda \in \Omega\}$ of weight $\theta \in \mathbb{K}$ on a Hom-associative algebra (D, \cdot, α) induces a Hom-dendriform family algebra $(D, \{\prec_\lambda, \succ_\lambda, \lambda \in \Omega\}, \alpha)$ where

$$a \prec_\lambda b := a \cdot R_\lambda(b) + \theta a \cdot b \text{ and } a \succ_\lambda b := R_\lambda(a) \cdot (b) \text{ for all } \lambda \in \Omega \text{ and } a, b \in D.$$

Proof. First, the multiplicativity of α with respect to \cdot and Condition (2.3) imply the multiplicativity of α with respect to \prec_λ and \succ_λ for any $\lambda \in \Omega$. Next, for all $x, y, z \in D$ and $\lambda, \eta \in \Omega$, we compute

$$\begin{aligned} (x \prec_\lambda y) \prec_\eta \alpha(z) &= (x \cdot R_\lambda(y) + \theta x \cdot y) \prec_\eta \alpha(z) \\ &= (x \cdot R_\lambda(y) + \theta x \cdot y) \cdot R_\eta(\alpha(z)) + \theta(x \cdot R_\lambda(y) + \theta x \cdot y) \cdot \alpha(z) \\ &= \alpha(x) \cdot (R_\lambda(y) \cdot R_\eta(z)) + \theta \alpha(x) \cdot (y \cdot R_\eta(z) + R_\lambda(y) \cdot z + \theta y \cdot z) \\ &\quad (\text{Hom-associativity}) \\ &= \alpha(x) \cdot R_{\lambda\eta}(y \cdot R_\eta(z) + R_\lambda(y) \cdot z + \theta y \cdot z) \\ &\quad + \theta \alpha(x) \cdot (y \cdot R_\eta(z) + R_\lambda(y) \cdot z + \theta y \cdot z) = \alpha(x) \prec_{\lambda\eta} (y \prec_\eta z + y \succ_\lambda z). \end{aligned}$$

Similarly, we compute

$$\begin{aligned} (x \succ_\lambda y) \prec_\eta \alpha(z) &= (R_\lambda(x) \cdot y) \prec_\eta \alpha(z) \\ &= (R_\lambda(x) \cdot y) \cdot R_\eta(\alpha(z)) + \theta(R_\lambda(x) \cdot y) \cdot \alpha(z) \\ &= R_\lambda(\alpha(x)) \cdot (y \cdot R_\eta(z) + \theta y \cdot z) (\text{by multiplicativity and Hom-associativity}) \\ &= R_\lambda(\alpha(x)) \cdot (y \prec_\eta z) = \alpha(x) \succ_\lambda (y \prec_\eta z). \end{aligned}$$

Finally we get, using the multiplicativity, the Hom-associativity and (2.4):

$$\begin{aligned} \alpha(x) \succ_\lambda (y \succ_\eta z) &= \alpha(x) \succ_\lambda (R_\eta(y) \cdot z) = R_\lambda(\alpha(x)) \cdot (R_\eta(y) \cdot z) \\ &= (R_\lambda(x) \cdot R_\eta(y)) \cdot \alpha(z) = R_{\lambda\eta}(R_\lambda(x) \cdot y + x \cdot R_\eta(y) + \theta x \cdot y) \cdot \alpha(z) \\ &= (R_\lambda(x) \cdot y + x \cdot R_\eta(y) + \theta x \cdot y) \succ_{\lambda\eta} \alpha(z) = (x \succ_\lambda y + x \prec_\eta y) \succ_{\lambda\eta} \alpha(z). \end{aligned}$$

\square

Proposition 3.6. Let $(D, \{\prec_\lambda, \succ_\lambda, \lambda \in \Omega\}, \alpha)$ be a Hom-dendriform family algebra. Then $(D \otimes \mathbb{K}\Omega, \prec, \succ, \tilde{\alpha})$ is Hom-dendriform algebra where for all $\lambda, \eta \in \Omega$, $x, y \in D$:

$$(x \otimes \lambda) \prec (y \otimes \eta) := (x \prec_\eta y) \otimes \lambda\eta \text{ and } (x \otimes \lambda) \succ (y \otimes \eta) := (x \succ_\lambda y) \otimes \lambda\eta.$$

Proof. The multiplicativity of $\tilde{\alpha}$ with respect to \prec and \succ follows from the one of α with respect to \prec_λ and \succ_λ for every $\lambda \in \Omega$. \square

Let $x, y, z \in D$ and $\lambda, \eta, \tau \in \Omega$. Then, we compute:

$$\begin{aligned}
& ((x \otimes \lambda) \prec (y \otimes \eta)) \prec \tilde{\alpha}(z \otimes \tau) = \left((x \prec_{\eta} y) \otimes \lambda \eta \right) \prec (\alpha(z) \otimes \tau) \\
& = \left((x \prec_{\eta} y) \prec_{\tau} \alpha(z) \right) \otimes \lambda \eta \tau = \left(\alpha(x) \prec_{\eta \tau} (y \prec_{\tau} z + y \succ_{\eta} z) \right) \otimes \lambda \eta \tau \\
& \quad (\text{ by equation (3.14) }) \\
& = (\alpha(x) \otimes \lambda) \prec \left((y \prec_{\tau} z + y \succ_{\eta} z) \otimes \eta \tau \right) \\
& = \tilde{\alpha}(x \otimes \lambda) \prec \left((y \otimes \eta) \prec (z \otimes \tau) + (y \otimes \eta) \succ (z \otimes \tau) \right).
\end{aligned}$$

Similarly, we obtain

$$\begin{aligned}
& \left((x \otimes \lambda) \succ (y \otimes \eta) \right) \tilde{\alpha}(z \otimes \tau) = \left((x \succ_{\lambda} y) \otimes \lambda \eta \right) \prec (\alpha(z) \otimes \tau) \\
& = \left((x \succ_{\lambda} y) \prec_{\tau} \alpha(z) \right) \otimes \lambda \eta \tau = \left(\alpha(x) \succ_{\lambda} (y \prec_{\tau} z) \right) \otimes \lambda \eta \tau \quad (\text{ by equation (3.15) }) \\
& = (\alpha(x) \otimes \lambda) \succ \left((y \prec_{\tau} z) \otimes \eta \tau \right) = \tilde{\alpha}(x \otimes \lambda) \succ \left((y \otimes \eta) \prec (z \otimes \tau) \right).
\end{aligned}$$

Finally, we get

$$\begin{aligned}
& \tilde{\alpha}(x \otimes \lambda) \succ \left((y \otimes \eta) \succ (z \otimes \tau) \right) = (\alpha(x) \otimes \lambda) \succ \left((y \succ_{\eta} z) \otimes \eta \tau \right) \\
& = \left(\alpha(x) \succ_{\lambda} (y \succ_{\eta} z) \right) \otimes \lambda \eta \tau = \left((x \prec_{\eta} y + x \succ_{\lambda} y) \succ_{\lambda \eta} \alpha(z) \right) \otimes \lambda \eta \tau \\
& \quad (\text{ by equation (3.16) }) \\
& = \left((x \prec_{\eta} y + x \succ_{\lambda} y) \otimes \lambda \eta \right) \succ (\alpha(z) \otimes \tau) \\
& = \left((x \otimes \lambda) \prec (y \otimes \eta) + (x \otimes \lambda) \succ (y \otimes \eta) \right) \succ \tilde{\alpha}(z \otimes \tau).
\end{aligned}$$

Similarly, we introduce Hom-type of the concept of tridendriform family algebras which was introduced in [23] as a generalization of tridendriform algebras invented by Loday and Ronco in the study of polytopes and Koszul duality [19].

Definition 3.7. A **Hom-tridendriform family algebra** is a \mathbb{K} -Hom-module (T, α) equipped with a family of binary operations $\{\prec_{\lambda}, \succ_{\lambda}, \lambda \in \Omega\}$ and a binary operation \cdot such that for $x, y, z \in T$ and $\lambda, \eta \in \Omega$,

$$\alpha \circ \prec_{\lambda} = \prec_{\lambda} \circ \alpha^{\otimes 2}, \quad \alpha \circ \succ_{\lambda} = \succ_{\lambda} \circ \alpha^{\otimes 2} \quad \text{and} \quad \alpha \circ \cdot = \cdot \circ \alpha^{\otimes 2}, \quad (3.17)$$

$$(x \prec_{\lambda} y) \prec_{\eta} \alpha(z) = \alpha(x) \prec_{\lambda \eta} (y \prec_{\eta} z + y \succ_{\lambda} z + y \cdot z), \quad (3.18)$$

$$(x \succ_{\lambda} y) \prec_{\eta} \alpha(z) = \alpha(x) \succ_{\lambda} (y \prec_{\eta} z), \quad (3.19)$$

$$(x \prec_{\eta} y + x \succ_{\lambda} y + x \cdot y) \succ_{\lambda \eta} \alpha(z) = \alpha(x) \succ_{\lambda} (y \succ_{\eta} z), \quad (3.20)$$

$$(x \succ_{\lambda} y) \cdot \alpha(z) = \alpha(x) \succ_{\lambda} (y \cdot z), \quad (3.21)$$

$$(x \prec_{\lambda} y) \cdot \alpha(z) = \alpha(x) \cdot (y \succ_{\lambda} z), \quad (3.22)$$

$$(x \cdot y) \prec_{\lambda} \alpha(z) = \alpha(x) \cdot (y \prec_{\lambda} z), \quad (3.23)$$

$$(x \cdot y) \cdot \alpha(z) = \alpha(x) \cdot (y \cdot z). \quad (3.24)$$

Remark. (1) As in Remark 3, when the semigroup Ω is taken to be the trivial monoid with one single element, a Hom-tridendriform family algebra is precisely a Hom-tridendriform algebra. Furthermore, a Hom-tridendriform family algebra reduces to a tridendriform family algebra when $\alpha = \text{Id}$.

- (2) Any Hom-tridendriform family algebra gives a Hom-dendriform family algebra by setting $x \cdot y = 0$ for all $x, y \in T$.

We can prove easily the following result which gives a method for constructing Hom-(tri)dendriform family algebras from (tri)dendriform family algebras.

Theorem 3.8. *Let $(A, \{\prec_\lambda, \succ_\lambda, \lambda \in \Omega\}, \cdot)$ be a tridendriform family algebra and $\alpha : A \rightarrow A$ be a self-morphism of tridendriform family algebra. Then $(A, \{\prec_\lambda^\alpha, \succ_\lambda^\alpha, \lambda \in \Omega\}, \cdot_\alpha, \alpha)$ is Hom-tridendriform family algebra where*

$$x \prec_\lambda^\alpha y := \alpha(x \prec_\lambda y), \quad x \succ_\lambda^\alpha y := \alpha(x \succ_\lambda y) \text{ and } x \cdot_\alpha y := \alpha(x \cdot y) \\ \text{for all } \lambda \in \Omega \text{ and } x, y \in A.$$

Proof. Straightforward computations. \square

Proposition 3.9. *A Hom-tridendriform family algebra $(T, \{\prec_\lambda, \succ_\lambda, \lambda \in \Omega\}, \cdot, \alpha)$ induces a Hom-dendriform family algebra $(T, \{\prec'_\lambda, \succ'_\lambda, \lambda \in \Omega\}, \alpha)$ where*

$$a \prec'_\lambda b := a \prec_\lambda b + a \cdot b \text{ and } a \succ'_\lambda b := a \succ_\lambda b \text{ for all } \lambda \in \Omega \text{ and } a, b \in A.$$

Proof. First, the multiplicativity of α with respect to \cdot , \prec_λ and \succ_λ imply the one of α with respect to \prec'_λ and \succ'_λ for any $\lambda \in \Omega$. Next, for all $x, y, z \in T$ and $\lambda, \eta \in \Omega$, we compute

$$\begin{aligned} (x \prec'_\lambda y) \prec'_\eta \alpha(z) &= (x \prec_\lambda y) \prec_\eta \alpha(z) + (x \cdot y) \prec_\eta \alpha(z) + (x \prec_\lambda y) \cdot \alpha(z) \\ &+ (x \cdot y) \cdot \alpha(z) = \alpha(x) \prec_{\lambda\eta} (y \prec_\eta z + y \succ_\lambda z + y \cdot z) + \alpha(x) \cdot (y \prec_\eta z) \\ &+ \alpha(x) \cdot (y \succ_\lambda z) + \alpha(x) \cdot (y \cdot z) \quad (\text{by equations (3.18), (3.23), (3.22) and (3.24)}) \\ &= \alpha(x) \prec_{\lambda\eta} (y \prec_\eta z + y \succ_\lambda z + y \cdot z) + \alpha(x) \cdot (y \prec_\eta z + y \succ_\lambda z + y \cdot z) \\ &= \alpha(x) \prec_{\lambda\eta} (y \prec'_\eta z + y \succ'_\lambda z) + \alpha(x) \cdot (y \prec'_\eta z + y \succ'_\lambda z) \\ &= \alpha(x) \prec'_{\lambda\eta} (y \prec'_\eta z + y \succ'_\lambda z). \end{aligned}$$

Similarly, we compute

$$\begin{aligned} (x \succ'_\lambda y) \prec'_\eta \alpha(z) &= (x \succ_\lambda y) \prec_\eta \alpha(z) + (x \succ_\lambda y) \cdot \alpha(z) \\ &= (x \succ_\lambda y) \prec_\eta \alpha(z) + (x \succ_\lambda y) \cdot \alpha(z) = \alpha(x) \succ_\lambda (y \prec_\eta z) + \alpha(x) \succ_\lambda (y \cdot z) \\ &\quad (\text{by (3.19) and (3.22)}) \\ &= \alpha(x) \succ_\lambda (y \prec'_\eta z) = \alpha(x) \succ'_\lambda (y \prec'_\eta z). \end{aligned}$$

Finally, we get by (3.20) :

$$\begin{aligned} \alpha(x) \succ'_\lambda (y \succ'_\eta z) &= \alpha(x) \succ_\lambda (y \succ_\eta z) = (x \prec_\eta y + x \succ_\lambda y + x \cdot y) \succ_{\lambda\eta} \alpha(z) \\ &= (x \succ'_\lambda y + x \prec'_\eta y) \succ_{\lambda\eta} \alpha(z) = (x \succ'_\lambda y + x \prec'_\eta y) \succ'_{\lambda\eta} \alpha(z). \end{aligned}$$

\square

Proposition 3.10. *Let $(T, \{\prec_\lambda, \succ_\lambda, \lambda \in \Omega\}, \cdot, \alpha)$ be a Hom-tridendriform family algebra. Then $(T \otimes \mathbb{K}\Omega, \prec, \succ, \bullet, \tilde{\alpha})$ is Hom-tridendriform algebra where for all $\lambda, \eta \in \Omega$, $x, y \in T$:*

$$\begin{aligned} (x \otimes \lambda) \prec (y \otimes \eta) &:= (x \prec_\eta y) \otimes \lambda\eta, \quad (x \otimes \lambda) \succ (y \otimes \eta) := (x \succ_\lambda y) \otimes \lambda\eta \\ \text{and } (x \otimes \lambda) \bullet (y \otimes \eta) &:= (x \cdot y) \otimes \lambda\eta. \end{aligned}$$

Proof. The multiplicativity of $\tilde{\alpha}$ with respect to \prec, \succ and \bullet follows from the one of α with respect to $\prec_\lambda, \succ_\lambda$ and \cdot for each $\lambda \in \Omega$. Now, let $x, y, z \in T$ and $\lambda, \eta, \tau \in \Omega$. Then, we have first:

$$\begin{aligned}
& \left((x \otimes \lambda) \prec (y \otimes \eta) \right) \prec \tilde{\alpha}(z \otimes \tau) = \left((x \prec_\eta y) \otimes \lambda \eta \right) \prec (\alpha(z) \otimes \tau) \\
& = \left((x \prec_\eta y) \prec_\tau \alpha(z) \right) \otimes \lambda \eta \tau = \left(\alpha(x) \prec_{\eta\tau} (y \prec_\tau z + y \succ_\eta z + y \cdot z) \right) \otimes \lambda \eta \tau \\
& \quad (\text{ by (3.18) }) \\
& = \tilde{\alpha}(x \otimes \lambda) \prec \left((y \prec_\tau z + y \succ_\eta z + y \cdot z) \otimes \eta \tau \right) \\
& = \tilde{\alpha}(x \otimes \lambda) \prec \left((y \prec_\tau z) \otimes \eta \tau + (y \succ_\eta z) \otimes \eta \tau + (y \cdot z) \otimes \eta \tau \right) \\
& = \tilde{\alpha}(x \otimes \lambda) \prec \left((y \otimes \eta) \prec (z \otimes \tau) + (y \otimes \eta) \succ (z \otimes \tau) + (y \otimes \eta) \bullet (z \otimes \tau) \right),
\end{aligned}$$

$$\begin{aligned}
& \left((x \otimes \lambda) \succ (y \otimes \eta) \right) \prec \tilde{\alpha}(z \otimes \tau) = \left((x \succ_\lambda y) \otimes \lambda \eta \right) \prec (\alpha(z) \otimes \tau) \\
& = \left((x \succ_\lambda y) \prec_\tau \alpha(z) \right) \otimes \lambda \eta \tau = \left(\alpha(x) \succ_\lambda (y \prec_\tau z) \right) \otimes \lambda \eta \tau \quad (\text{ by (3.19) }) \\
& = (\alpha(x) \otimes \lambda) \succ \left((y \prec_\tau z) \otimes \eta \tau \right) = \tilde{\alpha}(x \otimes \lambda) \succ \left((y \otimes \eta) \prec (z \otimes \tau) \right),
\end{aligned}$$

$$\begin{aligned}
& \tilde{\alpha}(x \otimes \lambda) \succ \left((y \otimes \eta) \succ (z \otimes \tau) \right) = (\alpha(x) \otimes \lambda) \succ \left((y \succ_\eta z) \otimes \eta \tau \right) \\
& = \left(\alpha(x) \succ_\lambda (y \succ_\eta z) \right) \otimes \lambda \eta \tau = \left((x \prec_\eta y + x \succ_\lambda y + x \cdot y) \succ_{\lambda\eta} \alpha(z) \right) \otimes \lambda \eta \tau \\
& \quad (\text{ by (3.20) }) \\
& = \left((x \prec_\eta y + x \succ_\lambda y + x \cdot y) \otimes \lambda \eta \right) \succ (\alpha(z) \otimes \tau) \\
& = \left((x \prec_\eta y) \otimes \lambda \eta + (x \succ_\lambda y) \otimes \lambda \eta + (x \cdot y) \otimes \lambda \eta \right) \succ \tilde{\alpha}(z \otimes \tau) \\
& = \left((x \otimes \lambda) \prec (y \otimes \eta) + (x \otimes \lambda) \succ (y \otimes \eta) + (x \otimes \lambda) \bullet (y \otimes \eta) \right) \succ \tilde{\alpha}(z \otimes \tau),
\end{aligned}$$

$$\begin{aligned}
& \left((x \otimes \lambda) \succ (y \otimes \eta) \right) \bullet \tilde{\alpha}(z \otimes \tau) = \left((x \succ_\lambda y) \otimes \lambda \eta \right) \bullet (\alpha(z) \otimes \tau) \\
& = \left((x \succ_\lambda y) \cdot \alpha(z) \right) \otimes \lambda \eta \tau = \left(\alpha(x) \succ_\lambda (y \cdot z) \right) \otimes \lambda \eta \tau \quad (\text{ by (3.21) }) \\
& = (\alpha(x) \otimes \lambda) \succ \left((y \cdot z) \otimes \eta \tau \right) = \tilde{\alpha}(x \otimes \lambda) \succ \left((y \otimes \eta) \bullet (z \otimes \tau) \right),
\end{aligned}$$

$$\begin{aligned}
& \left((x \otimes \lambda) \prec (y \otimes \eta) \right) \bullet \tilde{\alpha}(z \otimes \tau) = \left((x \prec_\eta y) \otimes \lambda \eta \right) \bullet (\alpha(z) \otimes \tau) \\
& = \left((x \prec_\eta y) \cdot \alpha(z) \right) \otimes \lambda \eta \tau = \left(\alpha(x) \cdot (y \succ_\eta z) \right) \otimes \lambda \eta \tau \quad (\text{ by (3.22) }) \\
& = (\alpha(x) \otimes \lambda) \bullet \left((y \succ_\eta z) \otimes \eta \tau \right) = \tilde{\alpha}(x \otimes \lambda) \bullet \left((y \otimes \eta) \succ (z \otimes \tau) \right),
\end{aligned}$$

$$\begin{aligned}
& \left((x \otimes \lambda) \bullet (y \otimes \eta) \right) \prec \tilde{\alpha}(z \otimes \tau) = \left((x \cdot y) \otimes \lambda \eta \right) \prec (\alpha(z) \otimes \tau) \\
& = \left((x \cdot y) \prec_\tau \alpha(z) \right) \otimes \lambda \eta \tau = \left(\alpha(x) \cdot (y \prec_\tau z) \right) \otimes \lambda \eta \tau \quad (\text{ by (3.23) }) \\
& = (\alpha(x) \otimes \lambda) \bullet \left((y \prec_\tau z) \otimes \eta \tau \right) = \tilde{\alpha}(x \otimes \lambda) \bullet \left((y \otimes \eta) \prec (z \otimes \tau) \right).
\end{aligned}$$

Finally, in a similar way, we compute:

$$\begin{aligned}
& \left((x \otimes \lambda) \bullet (y \otimes \eta) \right) \bullet \tilde{\alpha}(z \otimes \tau) = \left((x \cdot y) \otimes \lambda \eta \right) \bullet (\alpha(z) \otimes \tau) \\
& = \left((x \cdot y) \cdot \alpha(z) \right) \otimes \lambda \eta \tau = \left(\alpha(x) \cdot (y \cdot z) \right) \otimes \lambda \eta \tau \quad (\text{by (3.24)}) \\
& = (\alpha(x) \otimes \lambda) \bullet \left((y \cdot z) \otimes \eta \tau \right) = \tilde{\alpha}(x \otimes \lambda) \bullet \left((y \otimes \eta) \bullet (z \otimes \tau) \right).
\end{aligned}$$

□

Definition 3.11. A left (resp. right) Hom-pre-Lie family algebra is a \mathbb{K} -Hom-module (L, α) with a family of binary operations $\{\triangleright_\lambda, \lambda \in \Omega\}$ (resp. $\{\triangleleft_\lambda, \lambda \in \Omega\}$) such that

$$\begin{aligned}
& \alpha \circ \triangleright_\lambda = \triangleright_\lambda \circ \alpha^{\otimes 2}, \\
& \alpha(x) \triangleright_\lambda (y \triangleright_\eta z) - (x \triangleright_\lambda y) \triangleright_{\lambda \eta} \alpha(z) \\
& = \alpha(y) \triangleright_\eta (x \triangleright_\lambda z) - (y \triangleright_\eta x) \triangleright_{\eta \lambda} \alpha(z)
\end{aligned} \tag{3.25}$$

(resp.

$$\begin{aligned}
& \alpha \circ \triangleleft_\lambda = \triangleleft_\lambda \circ \alpha^{\otimes 2} \\
& \alpha(x) \triangleleft_\lambda (y \triangleleft_\eta z) - (x \triangleleft_\lambda y) \triangleleft_{\lambda \eta} \alpha(z) \\
& = \alpha(x) \triangleleft_\eta (z \triangleleft_\lambda y) - (x \triangleleft_\eta z) \triangleleft_{\eta \lambda} \alpha(y)
\end{aligned} \tag{3.26}$$

holds for $x, y, z \in A$ and $\lambda, \eta \in \Omega$.

Remark. (1) When the semigroup Ω is taken to be the trivial monoid with one single element, a Hom-pre-Lie family algebra is precisely a Hom-pre-Lie algebra [21].

(2) A Hom-pre-Lie family algebra reduces to a pre-Lie family algebra [25] when $\alpha = Id$.

It is easy to prove the following which is a construction of Hom-pre-Lie algebras family from pre-Lie algebras family.

Proposition 3.12. Let $\mathcal{A} := (A, \{\triangleright_\lambda, \lambda \in \Omega\})$ a left (resp. right) pre-Lie family algebra and α be a self-morphism of \mathcal{A} . Then $\mathcal{A}_\alpha := (A, \{\triangleright_\lambda^\alpha, \lambda \in \Omega\}, \alpha)$ is a left (resp. right) Hom-pre-Lie family algebra where for each $\lambda \in \Omega$,

$$x \triangleright_\lambda^\alpha y := \alpha(x \triangleright_\lambda y) \text{ for all } x, y \in L.$$

In the sequel, left Hom-pre-Lie family algebras will be simply called Hom-pre-Lie family algebras.

Proposition 3.13. Let $(D, \{\prec_\lambda, \succ_\lambda, \lambda \in \Omega\}, \alpha)$ be a Hom-dendriform family algebra such that the semigroup Ω is commutative. Then $(D, \{\triangleright_\lambda, \lambda \in \Omega\}, \alpha)$ (resp. $(D, \{\triangleleft_\lambda, \lambda \in \Omega\}, \alpha)$) is a left (resp. right) Hom-pre-Lie family algebra where for all $\lambda, \eta \in \Omega$, $x, y \in D$:

$$x \triangleright_\lambda y = x \succ_\lambda y - y \prec_\lambda x \text{ and } x \triangleleft_\lambda y = x \prec_\lambda y - y \succ_\lambda x \tag{3.27}$$

Proof. The multiplicativity of α with respect to \triangleright_λ follows from the one of α with respect to \triangleleft_λ and \succ_λ for every $\lambda \in \Omega$. First, on the left hand side, we have:

$$\begin{aligned}
& \alpha(x) \triangleright_\lambda (y \triangleright_\eta z) - (x \triangleright_\lambda y) \triangleright_{\lambda\eta} \alpha(z) \\
= & \alpha(x) \triangleright_\lambda (y \succ_\eta z - z \triangleleft_\eta y) - (x \succ_\lambda y - y \triangleleft_\lambda x) \triangleright_{\lambda\eta} \alpha(z) \\
= & \alpha(x) \succ_\lambda (y \succ_\eta z - z \triangleleft_\eta y) - (y \succ_\eta z - z \triangleleft_\eta y) \triangleleft_\lambda \alpha(x) \\
& - \left((x \succ_\lambda y - y \triangleleft_\lambda x) \succ_{\lambda\eta} \alpha(z) - \alpha(z) \triangleleft_{\lambda\eta} (x \succ_\lambda y - y \triangleleft_\lambda x) \right) \\
= & \alpha(x) \succ_\lambda (y \succ_\eta z) - \alpha(x) \succ_\lambda (z \triangleleft_\eta y) - (y \succ_\eta z) \triangleleft_\lambda \alpha(x) + (z \triangleleft_\eta y) \triangleleft_\lambda \alpha(x) \\
& - (x \succ_\lambda y) \succ_{\lambda\eta} \alpha(z) + (y \triangleleft_\lambda x) \succ_{\lambda\eta} \alpha(z) + \alpha(z) \triangleleft_{\lambda\eta} (x \succ_\lambda y) - \alpha(z) \triangleleft_{\lambda\eta} (y \triangleleft_\lambda x) \\
= & (x \triangleleft_\eta y) \succ_{\lambda\eta} \alpha(z) + (x \succ_\lambda y) \succ_{\lambda\eta} \alpha(z) - \alpha(x) \succ_\lambda (z \triangleleft_\eta y) - (y \succ_\eta z) \triangleleft_\lambda \alpha(x) \\
& + \alpha(z) \triangleleft_{\eta\lambda} (y \triangleleft_\lambda x) + \alpha(z) \triangleleft_{\eta\lambda} (y \succ_\eta x) - (x \succ_\lambda y) \succ_{\lambda\eta} \alpha(z) \\
& + (y \triangleleft_\lambda x) \succ_{\lambda\eta} \alpha(z) + \alpha(z) \triangleleft_{\lambda\eta} (x \succ_\lambda y) - \alpha(z) \triangleleft_{\lambda\eta} (y \triangleleft_\lambda x) \quad (\text{by (3.14)-(3.16)}) \\
= & (x \triangleleft_\eta y) \succ_{\lambda\eta} \alpha(z) - \alpha(x) \succ_\lambda (z \triangleleft_\eta y) - (y \succ_\eta z) \triangleleft_\lambda \alpha(x) \\
& + \alpha(z) \triangleleft_{\eta\lambda} (y \succ_\eta x) + (y \triangleleft_\lambda x) \succ_{\lambda\eta} \alpha(z) + \alpha(z) \triangleleft_{\lambda\eta} (x \succ_\lambda y).
\end{aligned}$$

Secondly, on the right hand side, we have:

$$\begin{aligned}
& \alpha(y) \triangleright_\eta (x \triangleright_\lambda z) - (y \triangleright_\eta x) \triangleright_{\eta\lambda} \alpha(z) \\
= & \alpha(y) \triangleright_\eta (x \succ_\lambda z - z \triangleleft_\lambda x) - (y \succ_\eta x - x \triangleleft_\eta y) \triangleright_{\eta\lambda} \alpha(z) \\
= & \alpha(y) \succ_\eta (x \succ_\lambda z - z \triangleleft_\lambda x) - (x \succ_\lambda z - z \triangleleft_\lambda x) \triangleleft_\eta \alpha(y) \\
& - \left((y \succ_\eta x - x \triangleleft_\eta y) \succ_{\eta\lambda} \alpha(z) - \alpha(z) \triangleleft_{\eta\lambda} (y \succ_\eta x - x \triangleleft_\eta y) \right) \\
= & \alpha(y) \succ_\eta (x \succ_\lambda z) - \alpha(y) \succ_\eta (z \triangleleft_\lambda x) - (x \succ_\lambda z) \triangleleft_\eta \alpha(y) + (z \triangleleft_\lambda x) \triangleleft_\eta \alpha(y) \\
& - (y \succ_\eta x) \succ_{\eta\lambda} \alpha(z) + (x \triangleleft_\eta y) \succ_{\eta\lambda} \alpha(z) + \alpha(z) \triangleleft_{\eta\lambda} (y \succ_\eta x) - \alpha(z) \triangleleft_{\eta\lambda} (x \triangleleft_\eta y) \\
= & (y \succ_\eta x) \succ_{\eta\lambda} \alpha(z) + (y \triangleleft_\lambda x) \succ_{\eta\lambda} \alpha(z) - \alpha(y) \succ_\eta (z \triangleleft_\lambda x) - (x \succ_\lambda z) \triangleleft_\eta \alpha(y) \\
& + \alpha(z) \triangleleft_{\lambda\eta} (x \triangleleft_\eta y) + \alpha(z) \triangleleft_{\lambda\eta} (x \succ_\lambda y) - (y \succ_\eta x) \succ_{\eta\lambda} \alpha(z) \quad (\text{by (3.14)-(3.16)}) \\
& + (x \triangleleft_\eta y) \succ_{\eta\lambda} \alpha(z) + \alpha(z) \triangleleft_{\eta\lambda} (y \succ_\eta x) - \alpha(z) \triangleleft_{\eta\lambda} (x \triangleleft_\eta y) \\
= & (y \triangleleft_\lambda x) \succ_{\eta\lambda} \alpha(z) - \alpha(y) \succ_\eta (z \triangleleft_\lambda x) - (x \succ_\lambda z) \triangleleft_\eta \alpha(y) \\
& + \alpha(z) \triangleleft_{\lambda\eta} (x \succ_\lambda y) + (x \triangleleft_\eta y) \succ_{\eta\lambda} \alpha(z) + \alpha(z) \triangleleft_{\eta\lambda} (y \succ_\eta x).
\end{aligned}$$

Finally, using the commutativity of the semigroup Ω , we observe that the i -th term in the expansion of the left hand side equals to the $\sigma(i)$ -th term in the expansion of the right hand side, where σ is the following permutation of order 6:

$$\begin{pmatrix} i \\ \sigma(i) \end{pmatrix} = \begin{pmatrix} 1 & 2 & 3 & 4 & 5 & 6 \\ 5 & 3 & 2 & 6 & 1 & 4 \end{pmatrix}.$$

Hence,

$$\alpha(x) \triangleright_\lambda (y \triangleright_\eta z) - (x \triangleright_\lambda y) \triangleright_{\lambda\eta} \alpha(z) = \alpha(y) \triangleright_\eta (x \triangleright_\lambda z) - (y \triangleright_\eta x) \triangleright_{\eta\lambda} \alpha(z)$$

i.e., the desired equation holds. Similarly, we prove that $(D, \{\triangleleft_\lambda, \lambda \in \Omega\}, \alpha)$ is a right Hom-pre-Lie family algebra. \square

Corollary 3.1. *A Rota-Baxter family $\{R_\lambda, \lambda \in \Omega\}$ of weight $\theta \in \mathbb{K}$ on a Hom-associative algebra (A, \cdot, α) induces a left (resp. a right) Hom-pre-Lie family algebra $(A, \{\triangleright_\lambda, \lambda \in \Omega\}, \alpha)$ (resp. $(A, \{\triangleleft_\lambda, \lambda \in \Omega\}, \alpha)$) where for all $\lambda \in \Omega$ and $a, b \in A$:*

$$a \triangleright_\lambda b := R_\lambda(a) \cdot (b) - a \cdot R_\lambda(b) - \theta a \cdot b \text{ and } a \triangleleft_\lambda b := R_\lambda(a) \cdot (b) - R_\lambda(a) \cdot (b) + \theta a \cdot b.$$

Proof. Follows by Proposition 3.5 and Proposition 3.13 . \square

Definition 3.14. A **Nijenhuis family** on a Hom-associative algebra (A, \cdot, α) is a collection of linear operators $\{N_\lambda, \lambda \in \Omega\}$ on (A, \cdot, α) satisfying:

$$\alpha \circ N_\lambda = N_\lambda \circ \alpha \text{ for all } \lambda \in \Omega, \quad (3.28)$$

$$N_\lambda(a) \cdot N_\eta(b) = N_{\lambda\eta} \left(N_\lambda(a) \cdot b + a \cdot N_\eta(b) - N_{\lambda\eta}(a \cdot b) \right) \quad (3.29)$$

for $a, b \in A$ and $\lambda, \eta \in \Omega$.

Observe that any Nijenhuis operator N on a Hom-associative algebra (A, \cdot, α) can be viewed as a constant Nijenhuis family $\{N_\lambda, \lambda \in \Omega\}$ where $N_\lambda = N$ for all $\lambda \in \Omega$.

Theorem 3.15. Let $\{N_\lambda, \lambda \in \Omega\}$ be a Nijenhuis family on the Hom-associative algebra (A, \cdot, α) . Then the map

$$N : A \otimes \mathbb{K}\Omega \rightarrow A \otimes \mathbb{K}\Omega, \quad N(a \otimes \lambda) := N_\lambda(a) \otimes \lambda$$

is a Nijenhuis operator on the Hom-associative algebra $(A \otimes \mathbb{K}\Omega, \bullet, \tilde{\alpha})$.

Proof. First, it is clear that $\tilde{\alpha} \circ N = N \circ \tilde{\alpha}$. Next, pick $a, b \in A$ and $\lambda, \eta \in \Omega$. Then, we have:

$$N(a \otimes \lambda) \bullet N(b \otimes \eta) = (N_\lambda(a) \otimes \lambda) \bullet (N_\eta(b) \otimes \eta) = (N_\lambda(a) \cdot N_\eta(b)) \otimes \lambda\eta.$$

On the other hand, we also get:

$$\begin{aligned} & N(N(a \otimes \lambda)(b \otimes \eta) + (a \otimes \lambda)N(b \otimes \eta) - N((a \otimes \lambda) \bullet (b \otimes \eta))) \\ &= N(N_\lambda(a) \cdot b \otimes \lambda\eta + a \cdot N_\eta(b) \otimes \lambda\eta - N_{\lambda\eta}(ab) \otimes \lambda\eta) \\ &= N_{\lambda\eta} \left(N_\lambda(a) \cdot b + a \cdot N_\eta(b) - N_{\lambda\eta}(a \cdot b) \right) \otimes \lambda\eta. \end{aligned}$$

Hence, the conclusion follows by (3.29). \square

Acknowledgments. The authors would like to thank the anonymous referee for his/her comments that helped us improve this article.

REFERENCES

- [1] M. Aguiar, *Infinitesimal Hopf algebras*, New Trends in Hopf Algebra Theory (La Falda, 1999), 1-29, Contemp. Math. 267, Amer. Math. Soc., Providence, RI, 2000.
- [2] G. Baxter, *An analytic problem whose solution follows from a simple algebraic identity*, Pacific J. Math. **10** (1960), 731-742.
- [3] A. Connes and D. Kreimer, *Hopf algebras, renormalization and non-commutative geometry*, Commun. Math. Phys. **199** (1998), 203-242.
- [4] A. Connes and D. Kreimer, *Renormalization in quantum field theory and the Riemann-Hilbert problem. I. The Hopf algebra structure of graphs and the main theorem*, Commun. Math. Phys. **210** (2000), 249-273.
- [5] A. Connes and D. Kreimer, *Renormalization in quantum field theory and the Riemann-Hilbert problem. II. The β -function, diffeomorphisms and the renormalization group*, Comm. Math. Phys. **216** (2001), 215-241.
- [6] K. Ebrahimi-Fard, *Loday-type algebras and the Rota-Baxter relation*, Lett. Math. Phys. **61** (2002), 139-147.
- [7] K. Ebrahimi-Fard, J. Gracia-Bondia and F. Patras, *A Lie theoretic approach to renormalization*, Comm. Math. Phys. **276** (2007), 519-549.
- [8] K. Ebrahimi-Fard, D. Manchon and F. Patras, *New identities in dendriform algebras*, J. Algebra **320** (2008), 708-727.
- [9] A. Frabetti, *Leibniz homology of dialgebras of matrices*, J. Pure. Appl. Algebra **129** (1998), 123-141.

- [10] L. Foissy, *Les algèbres de Hopf des arbres enracinés dcorés II*, Bull. Sci. Math. **126** (2002), 249-288.
- [11] L. Foissy, *Generalized dendriform algebras and typed binary trees*, preprint arXiv:2002.12120 (2020)
- [12] L. Guo, *Operated monoids, Motzkin paths and rooted trees*, J. Algebraic Combin. **29** (2009), 35-62.
- [13] J. T. Hartwig, D. Larsson and S. D. Silvestrov, *Deformations of Lie algebras using σ -derivations*, J. Algebra, **292** (2006), 314-361.
- [14] D. Kreimer and E. Panzer, *Hopf-algebraic renormalization of Kreimer's toy model*, Master thesis, Handbook, <https://arxiv.org/abs/1202.3552>
- [15] J. L. Loday, *Arithmetree*, J. Algebra **258** (2002), 275-309.
- [16] J. L. Loday, *Dialgebras*, in Lecture Notes in Math., vol. 1763, Springer, Berlin, 2001, 7-66.
- [17] J. L. Loday, *Scindement dassociativité et algèbres de Hopf*, the Proceedings of the Conference in honour of Jean Leray, Nantes, (2002), Sminaire et Congrès(SMF) **9** (2004), 155-172.
- [18] J. L. Loday and M. R. Ronco, *Hopf algebra of the planar binary trees*, Adv. Math. **39** (1998), 293-309.
- [19] J. L. Loday and M. Ronco, *Trialgebras and families of polytopes*, in Homotopy Theory: relations with Algebraic Geometry, Group Cohomology and Algebraic K-Theory, in Contemp. Math. vol **346**, Amer. Math. Soc., Providence, RI, 2004, 369-673.
- [20] A. Makhlouf, *Hom-dendriform algebras and Rota-Baxter Hom-algebras*, Operads and universal algebra, 147-171, Nankai Ser. Pure Appl. Math. Theoret. Phys., 9, World Sci. Publ., Hackensack, NJ, 2012.
- [21] A. Makhlouf, S. D. Silvestrov, *Hom-algebra structures*, J. Gen. Lie Theory Appl. **2** (2008), 51-64.
- [22] M. R. Ronco, *Eulerian idempotents and Milnor-Moore theorem for certain non-commutative Hopf algebras*, J. Algebra **254** (2002), 152-172.
- [23] Y. Y. Zhang and X. Gao, *Free Rota-Baxter family algebras and (tri)dendriform family algebras*, Pacific J. Math. **301** (2019), 741-766.
- [24] Y. Y. Zhang, X. Gao and D. Manchon, *Free (tri)dendriform family algebras*, J. Algebra **547** (2020), 456-493.
- [25] Y. Y. Zhang and D. Manchon, *Free pre-Lie family algebras*, preprint, arXiv:2003.00917 (2020).

SYLVAIN ATTAN

DÉPARTEMENT DE MATHÉMATIQUES, UNIVERSITÉ D'ABOMEY-CALAVI 01 BP 4521, COTONOU 01, BÉNIN

E-mail address: syltane2010@yahoo.fr

DONATIEN GAPARAYI

ECOLE NORMALE SUPÉRIEURE (E.N.S), BP 6983 BUJUMBURA, BURUNDI

E-mail address: gapadona@yahoo.fr

BERNARDIN KPAMÈGAN

DÉPARTEMENT DE MATHÉMATIQUES, UNIVERSITÉ D'ABOMEY-CALAVI 01 BP 4521, COTONOU 01, BÉNIN

E-mail address: kpamegan.bernadin@yahoo.fr